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PART-A(10 x?=Z0Marks)

*r"*o ALL Questions

Compare series and parallel circuit"
Defi ne superposition theorem.

Why transformer is rated in KVA?
What are the various losses in DC Machines?

Classifu the two types of three phase induction motor.
List the applications of single phase induction motor.
Classifu the two rypes of rotor of three phase induction.
tabei the block diagram of an Electrical drive system.

Summarize short time rating.

Compare Mechanical and Electrical Braking.
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PART-B(5x13=65Marks)
'Answer ALL Questions

11. a) Find the current through each branch by network reduction technique . ti,Ki,cot
tA*.+ S,J:- *-it

OR

Kl - Remember; K2 - understand; K3 -Apply; Kl - Analyze; K5 - Evaluate; K6 - create 11736
I



b) Find the equivalent resistance across the terminal A and B.

Rro =zrl

l3,K3,C0t

t3,K2,COi

13,K2,COi

\r'
t3,K3,C04

I3,K2,CO4

13,K2,CO5

11736
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12. a)

b)

Explain with neat sketches.the principle of operation of DC motor.
OR

Explain the construction and working principre of three phase
induction motor.

A naal440 v, single phase 400 kvA transformer has g00 primaryturns. Find: a). Transformation ratio, b). S.*"iury turns,
.cl,Jolta-selturn, d)- Secondary current when it;rppli;r a-toaa of 200kW at 0.8 power factor lagging.

OR
Explain the various methods of speed control of D.c shunt motor.Discuss the merits and demerits.

Explain various classes ofmotor duties.

OR
The temperature rise of a rirotor when operating for 25min on full load ts,K3.cos
is 25oc and beccmes 400c when the motor operates for another 25 minon the same load. Intbr heating time constant and steady statetemperature rise.

3#rmj}|,d)'namic 
braking of D.c series motor with speed-torque r3,R2,co6-

OR
Explain wi& a neat diagraih 4 point starter used for a D.c shunt motor. t3,K2,co6
Mention its advantages.

13. a)

b)

14. a)

b)

15. a)

b)

Kl - Remember; K2 - Understand; K3 _ Apply; K4 * Anatyze; KS _ Evaluate; K6 _ Create
2
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PART-C(Ix15=15Marks)

Find the current by using superposition theorem for the circuit shown. ts,K3,co2
16. a)

b) Find the thevenin's equivalent circuit of the network shown in fig.

Kl - Remember; K2 - ()nderstand; Ki - Appty: K4 * Anatyze; K5 - Evaruate; K6 - create 11736
3


